# **Apartment in Sliema**



#### **Sliema, Sliema and St Julians Surroundings**



## €475,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m<sup>2</sup>) : **128** 

Bedrooms: 3

Reference No: 240471014-1411

## **Apartment - For Sale - Sliema**

A Sliema apartment located on a prime street, just steps away from the seafront. The accommodation includes an entrance hall, a combined sitting and dining area, a kitchen with a breakfast nook, three double bedrooms, a bathroom, and three balconies. This appealing corner property is filled with natural light. A must-see!

### **Features**

- Natural Gas
- Electricity Utility
- Pattern Tiles

## Rooms

- Kitchen/Dining : 5.5 x 4 m (22 m2)
- Living : 5.5 x 3.8 m (20.9 m2)
- Double Bedroom : 5 x 4 m (20 m2)
- Double Bedroom : 3 x 3 m (9 m2)
- Double Bedroom : 5 x 4.5 m (22.5 m2)
- Bathroom : 2.4 x 2 m (4.8 m2)
- Open Space : 0.75 x 3 m (2.25 m2)
- Open Space : 0.75 x 3 m (2.25 m2)
- Open Space : 0.75 x 3 m (2.25 m2)

- ✓ Kitchen/Dinette
- Skirting
- Balcony

# Gallery







Mark Micallef RE/MAX Luxe - Sliema

M: 99423070 E: mmicallef@remax.com.mt T: 27992796

**RE/MAX Luxe - Sliema** 58,Tigne Seafront, Sliema, Malta